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Ms. Evenodd decided to display the whole
numbers from O to 109 in a different way.
Here is part of her numeral chart. Can you
complete the next three rows of Ms.
Evenodd's chart?

o 2 < & &

32 55

1 = 5 T 2

10 |12 |14 |[1& |18 45

1 (13 |15 |17 |12

20 |22 |24 |26 |28

21 |25 |25 |27 |29

20 |32 |24 |56 |36

77

98

-
.
"
.
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calcul ator
key.

Zonatried to add the numbers 549 and 286 on her

. Each time she pressed just one wrong

The display shows 855. 1

Which wrong key did she press

The display shows 535. 1

Which wrong key did she press

The display shows 2635, 1

Which wrong key did she press?

The display shows 837. 1

Which wrong key did she press?

frial
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Inthis arrow picture, each arrow has its own label, .

o [

| & 117

R

ii Example:. 12 o 78

:I because 2x12 = 24 234
43
156 |
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PROBLEM OF THE DAY || [{/I|}}

i 11 .
mathdURF

Each . weighs 2 pounds.-

How much does this weigh?-







